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Arachis hypogea 70 99 - 5 0 ey - - - e =
Brassica spp.:
- sementi di base g5 98 0,3 - 0 | Ofchd) | 10 2 - - -
- sementi certificate 5 98 0.3 . 0 | Ofchdy | 10 5 -
Cannabis sativa 75 98 - 30(b) 0 0(c) - - - - (&)
Cartharmus finctorius 75 98 - 5 0 D(c) - - - - (e)
Carum carvi 70 97 - 25(b) 0 O(chd) | 10 - k! - -
Glyeire mrax 41 98 - 5 0 0(c) - - _ . -
Gossiphim spp. 80 98 - 15 1] O(c) - - - - -
Helianthus annus 835 98 - 5 0 Die) - - - - -
Linum usitalissimim
(tessile) 92 99 - 15 0 ) 0fe)d) | - - 4 2 .
Linum, usitatissimum
(oleaginoss) 85 99 - 15 o | ofexd) | - " 4 2 .
Papaver somniferim 20 98 - 25(b) ] We)(d) - - - + .
Sinapis alba:
- sementi di base 83 9% 0,3 - 0 OfcHd) | 10 2 - - -
- sementi certificate £S5 98 0,3 - 0 OfcHdy | 10 5 . = :




